Committee presentation Thurs 15™ Aug 2019

At the heart of my submission was the idea of fairness and | d like to emphasise it more because it
makes all the difference between people taking action and making sacrifices and people refusing to.
We have already seen a barrage of complaint from the farming lobby about their perceived unfair
treatment.

To recap

1. If the reduction burden is not shared fairly there will be resistance, and it is a burden. Any
idea that by some technical miracle or smart economic trick we can just carry on as we have
been and still stay under 1.5 degrees is a fantasy.

2. Itis not NZ that needs to reduce emissions but the whole world, and because of our small
size the only way we can have an influence is as an example. To be that example we need to
do our fair share and more, which the zero carbon bill won’t achieve. Secondly, to be this
example we must have a clear pathway from now to an adequate target in 2050, and we
need to be seen to be sticking to that target from the word go. My objection to the 5-year
budgets is that they enable backsliding. As well they purport to be budgets but can’t be
because the 2050 target itself is not a budget for emissions over the period 2020-2050, but a
emissions amount in a certain year (2050). My guess is that we will miss the first 5-year
budget by a wide margin and say, “but we will catch up in the second 5 years” This failure to
reach targets has been happening since the first targets were set in 1990. My RERP on the
other hand is a clear straight line from now to the target with annual numbers. It will
become immediately apparent if NZ is not being the example to the world that it should. As
well, seeing that the RERP is the basis for businesses paying carbon tax or receiving carbon
credits on an annual basis, it gives immediate incentives to reduce emissions in all sectors.

Today I'd like to look deeper at what fair means.

The crux of the problem is that methane emitters have been given a gross reduction target but other
gases haven’t. Even worse, other gases can take advantage of the sequestration by the forest sink,
but methane emitters cant. Let’s look at something fairer

Because NZ livestock farming emits 7x the world per-person average emissions of methane and
other gases emitters in NZ are only 1.5 times the world per-person average, its obvious that for NZ
to be fair to the world, farmers will have to reduce much more quickly than city folk and this is not
fair within NZ and thus farmers will not do it. As long as we choose to separate methane and other
gases this problem cannot be solved. Let’s look at three scenarios:

a. Other gases reduce at the same rate as required for methane (In total NZ exceeds our
required national reductions)

b. Methane reduces at the same rate as required of other gases (In total NZ falls short of our
required national reductions)

c. A pathway somewhere between a. and b. where we hit our national target, yet both sectors
are treated fairly.

a. Methane, currently at 34.1 Mtns CO2e, needs to reduce to 3.3 Mtns in 2050 (This is based on a
per-person calculation, with NZ at 0.062% of the world population.). Now this represents a 90%
reduction. If other gases made a similar (fair) reduction, our 46 Mtn would reduce to 4.6 Mtn in



2050. But if we balance this with our forest sink of say 33 Mtns, our net emissions in 2050 will be 3.3
+4.6 — 33 = -25.1Mtn — far below what NZ needs to achieve according to IPCC SR 1.5

b. All gases, currently at 46 Mtns reduce to net zero by 2050. If we take the forest sink as 33 Mtns
again, then all gases need gross to reduce from 46 to 33, a fall of 28%, If, to be fair, methane also
reduced by that %,(almost the bottom of the IPCC suggested range for 2050), it would fall from 34.1
to 24.55. This would give total net emissions in 2050 of 24.55 Mtns, not enough.

c. If we asked the question, ‘by what would both other gases and methane have to reduce, if they
both had the same percentage reduction and NZ was to achieve net zero emissions in 2050?’ The
answer, shown by the chart below, would be a 58.8% reduction in gross emissions of both. Note that
both gases share the sequestering by the forest sink, in exact proportion to their emissions, a
solution ruled out by the Zero Carbon Bill.

The advantages of scenario C are

o NZreaches net zero all gases by 2050

e Both the methane and other gases sector make equal and fair percentage reductions

o New Zealand exceeds the IPCC SR 1.5 report’s requirement of 24-47% reduction in methane
and net zero other gases by 2050

e There are clear gross reduction pathways for both gases and for NZ as a whole, therefore, NZ
could be a transparent role model for the world.
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Note that scenario C is not strong enough for NZ to be doing its fair share on a per person basis. To
do this as explained above methane has to drop from 34.1 Mtn to 3.3 Mtn and other gases from 46
Mtn to 33 Mtn. This, as emphasised above is totally not fair on methane emitters in NZ.

The next step of course is to incentivise the reductions and the RERP, following the principle that all
sectors of the economy and all businesses should make reductions in proportion to their emissions
in the start year (2020), provides that incentive. But that is another topic.



Table for scenario ‘C’
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